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: 9o (DH) L loew il godl
84 x 6500 = 546000 DH

: ayglhall 6aagll will Jgal
0,2m 25,75 dm 3,15 mm = 2778,15 mm
0,36t 96,4 q 4000 kg = 14 t
0,75 m2 25 dm? 3585 m? = 135,85 dm?
0,004 m?® 12,32 | 23,68 dm® = 40 dm?
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96000 | = 96000 dm®=96 m®
: (M) u gl clall glaj)l
h=V+Sb=96+24=4m
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845,36 - 395 = 450,36
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450,36 + 116,64 =567
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25,6 x 8,18 = 209,408
: hguall ylall aai -5
45,824+ 6,4=7,16
: alwo -6
: (1o (DH) w agiwll 8ailall -1
(12 x 603,75) + 15 = 483 DH
: g® (DH) u il wno arng il gholl
(100 x 483) + 5= 9660 DH
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